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MATH 125
J. Moseley

Find the equation of the tangent line to the graph of the function y = ln(x% ) at the point

(1, 0). -
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Find the derivative of the function y = 1n( —¢ ) :
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Determine an equation of the tangent line to the function y =—— at the point (1, 0).
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5. Find the second derivative.
a) y=(1+3x)e™ b) y=4-3Inx
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6. Find the equation of the tangent line to the function at the given point.

a) f(x)=1¢€%(0,1) b) flx) = bnx; (1,0)
Fix) =X | Filc)e
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7. Complete the following inequality with the sign < or >.

f(x)[>]0
£ x)[>]0
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8. (a) Find the derivative of the function y = ln(z ex J .
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(b) Find the derivative of the function y = xe +~—T~—
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2- Given the function f(x) =" +3x* ~9x 4.6, P x)=Cx+6 =¢ (x+1)

a) Find the intervals on which /" is concave up or concave down,

O €"(x) => x = ~|
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b) Find all relative extrema of /- (State as ordered pairs.)

Ot () 2> x=1,-3 e (%3;33)
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¢) Find all inflection points of /. (State as ordered pairs.)

(1)

d) Sketch the graph of J: showing all extrema. Label at least one value on each

axis so I can tell what scale you are using.
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